

# Presentation & pricing MAISON LAURINO FRUIT JUICES & NECTARS

Mark Cooper



## The Love of the fruits



In continuation of their business development, following up on multiple requests from Michelin star Chefs who were looking for higher quality, luxury looking packaging, **Maison Laurino** was asked to develop a range of <u>fruit juices</u> and nectars for the Bar and the Mini Bar.

They accepted only at one condition: to have the Chefs work with them to finetune, adjust the recipes, making sure that the texture, balance of sweetness, acidity and colors are absolutely in line with the expectations of the 5 star hotels clientele.

After 2 years working on that project, we are pleased to finally present you this range: Sip on and enjoy!







### Flavors:

#### **Fruit juices:**

- Orange (Bar & Mini Bar)
- Apple (Bar & Mini Bar)
- Grape (Mini Bar)
- Pineapple (Bar & Mini Bar)
- Tomato (Mini Bar)

#### **Nectars:**

- Apricot (Bar & Mini Bar)
- Mango (Mini Bar)
- Peach (Mini Bar)
- Pear (Mini Bar)





## Packaging:

Mini Bar & single serve:

• 25 cl / 8.4 fl oz

Case pack: 12 bottles / case

#### Bar:

• 1 liter / 33.8 fl oz

Case pack: 6 bottles / case

## Shelf life:

2 years from production date





## **MOCAA International:** official and exclusive distributor of **Maison Laurino** in the US

#### FOB Newark, NJ

Product description	Case pack	Price per bottle	Price per case
Orange juice 25 cl / 8 fl oz	12 bottles	\$2,97	\$35,64
Apple juice 25 cl / 8 fl oz	12 bottles	\$2,98	\$35,76
Cranberry juice 25 cl / 8 fl oz	12 bottles	\$2,93	\$35,16
Pineapple juice 25 cl / 8 fl oz	12 bottles	\$2,99	\$35,88
Tomato juice 25 cl / 8 fl oz	12 bottles	\$2,97	\$35,64
Apricot nectar 25 cl / 8 fl oz	12 bottles	\$2,96	\$35,52
Mango nectar 25 cl / 8 fl oz	12 bottles	\$2,97	\$35,64
Peach nectar 25 cl / 8 fl oz	12 bottles	\$2,96	\$35,52
Pear nectar 25 cl / 8 fl oz	12 bottles	\$2,95	\$35,40

Validity: August 31st, 2025

Payment terms: 30 days from invoice date





#### For more information:

Olivier Barbeyrac

Tel: +1 843 609 0340

olivier@mocaaintl.com

Maison Laurino

Tradition Familiale



www.maisonlaurino.com